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(a)
Analysis H1:
h = non-crop
c > 98% (h, s, y)
PA < any distance

100 km search
200 km search
400 km search

(b)
Analysis H2:
h = non-crop
c > 95% (h, s, y)
PA < any distance

100 km search
200 km search
400 km search

(c)
Analysis H3:
h = non-crop
c > 98% (h, s, y)
PA < 25 km
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200 km search
400 km search

(d)
Analysis H4:
h = grassland
c > 98% (h, s, y)
PA < any distance
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400 km search

(e)
Analysis H5:
h = woodland
c > 98% (h, s, y)
PA < any distance
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400 km search

(f)
Analysis H6:
h = non-crop
c > 98% (h, y)
PA < any distance
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400 km search

(g)
Analysis C1:
h = non-crop
i > 98% (h, s, y)
PA > any distance
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400 km search

(h)
Analysis C2:
h = non-crop
i > 95% (h, s, y)
PA > any distance

100 km search
200 km search
400 km search

(i)
Analysis C3:
h = non-crop
i > 98% (h, s, y)
PA > 25 km

100 km search
200 km search
400 km search

(j)
Analysis C4:
h = grassland
i > 98% (h, s, y)
PA > any distance

100 km search
200 km search
400 km search

(k)
Analysis C5:
h = woodland
i > 98% (h, s, y)
PA > any distance

100 km search
200 km search
400 km search

(l)
Analysis C6:
h = non-crop
i > 98% (h, y)
PA > any distance




